Roll No:-
Sem-V Diploma Exam 2023 (Odd)
(Mechanical Engineering (25) / Automobile Engineering / Mech. Engineering (Auto) (33)) (Theory)
[Time: 3 Hours] Farm Equipment & Farm Machinery (2025505B) [Max. Marks: 70]

- All questions are compulsory. (e 5 s1fari 2 |)
- Marks are mentioned on the right side of each question. (3= @t ws1 & 315 2R siferd frar 2|)
Group (A) (77 -v)
Q.1  Choose the most suitable answer from the following options. (1*20=20)
(wariferes sudw e st ge for |) -
i. The complete path of power from the engine to the wheel is known as

(35 & ufew qe wifth 1 @ % &Y F ST ST 7)
(a) Muffler (awer) (b) Fender(%=x) (c) Power train (amer &) (d) Hitch system (f&= someft)
i of tractor is suitable for a 40 hectares’ farm.(40 g% % @ & forg T 3 3T Bl 2])
(@) 20-25 HP (b) 10-15 HP (c) 30-35 HP (d) 40-45 HP
(20-25 tard) (10-15 wardt) (30-35 =) (40-45 =)

iii. involves initial major soil working operation.( # wrifirer yq@ qe1 HE Herer e 2))
(a) Secondary tillage (b) Primary tillage (c) Tertiary tillage (d) None of these
(facfrr qare) (e ats) (el ) (3 & =8 )

iv. A strip of land left unplugged at each end of the field for the tractor to turn is known as
(7 1 M % foTT T % Tk 3R W TR a2t fey ot agt Y ST ST 7])
(a) Head land (b) Dead Furrow (c) Back Furrow (d) None of these
(e fe) (S 1) (qfeetr #2) (57 & 718 )
V. Gunnel is the face of the share that slides along the furrow wall.
(T 34 fewE e S 2 S AR o HTY-HTY TES T 1)
(@) Vertical (s=r=e) (b) Horizontal (&fer) (c) Centre (fs=) (d) Parallel(wmmiaw)
vi. is known as knife harrow.( AT T F A Y ST ST 2])
(a) Spring tooth harrow (b) Triangular harrow (c) Acme harrow (d) None of these
(fesi g &) (Prepiofiar &) (T 30) (57 & wré )
vii. is not a type of a cultivator.( Tk YT T shediaet T8t 2])
(a) Disc(fe=) (b) Rotary(3ei) (c) Tine(fa) (d) Off-set(it®-#2)
viii. __isnota type of furrow opener.
(T TR U TR T R])
(a) Shovel (%) (b) Shoe(z) (c) Disc(fe=x) (d) Brush feed (s=1 %re)

ix.  Inwhich process of seeding, the seeds are placed in the holes made in seed bed and covering them?
(ot st <t forer wifsra & <fisit sht Tonfit & o fost & <ot @k faa i )
(a) Broadcasting(sresifm)  (b) Transplanting(semiaer)  (c) Dibbling (safeim) (d) Drilling (fgfeim)
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X. For steel, can be enhanced by annealing.

(vt = ferg, T THTAT ST ST ST HehelT 7))
(a) Hardness (b) Toughness (c) Ductility (d) Resilience
(T (z5) (sfaefedt (F=m)) (tefrefieg (cr=fiene))
Xi. In normalizing cooling is done in
(s 7 e T i St 2])
(a) Air (3m) (b) Water (urt) (c) Qil (@) (d) Furnace (v#)
xii.  Mild steel can be converted into high carbon steel by process.
(vTsTE Wit TfsRaT g S e WA § uftafdd foram St weRar )
(@) Annealing (b) Normalizing (c) Case hardening (d) Nitriding
(effetm) (FicTEfsim) (@ wefim) (regrefem)
Xiii. is not a function of alloy steels.
( T i e BT b e )
(@) Increase strength (b) Improve ductility (c) Reduce cost (d) Improve machinability
(wfh s@rT) (=T | G HEAT) (ST W HEAT) (wfRrierTor # guw)
Xiv. is an alloy of Iron. ( e i firsgeg 2[)
(a) Vitalium (faeform) (b) Brass (sm) (c) Invar (z=m) (d) Solder (wre=r)
Xv.  Pure metals are not frequently used in engineering applications because of its attributes.
(SShfafor sommt & S7g aqsi st STeeR ST =& fopa ST 2| iifer sa 1 T[0T 1T &)
(a) Softness (=) (b) Hardness (=arar) (c) Brittleness (sfrar) (d) Luster (z#=)
Xvi.  One hp is equal to (T Tt % SR BT 2))
(a) 246 watts (246 3m) (b) 250 watts (250 &)  (C) 746 watts (746 3m) (d) 1000 watts (1000 =)
xvii.  Differential lock in tractor is used to improve :
(3t # fewiferrer < 1 @i 1 e s 3 fora o s @)
(a) Lateral stability (b) Braking performance (c) Hydraulic lift (d) Traction of a wheel
(e feeream) (SifeRT watT) (Fsifere forwe) (afea = aFfor)
xviii. Correcting the seed rate is known as . (forst =2 =1 =&t 6 B % &9 § ST STt 2))
(a) Standardization (b) Filtration (c) Calibration (d) Testing
(Glecacau)) (fredem) (3f=mTeRT) (rfegor)
XiX.  Uniformity measure of aplanteris _ (Ghi@diwwesarad A @ f))

(a) Equal seed spacing (amm fost 3iax)

(b) Equal number of seed dropped per hill (sfafeet firme mu =it 6 qmm ven)
(€) minimum variation in different openers (fafiw sTome & =pam firar)

(d) All of the above (3w * &)

XX. In a four stroke engine there is one power stroke for every revolution of the crank shaft.
(TR 1k 5 T ShehTTHE o Tcdish Tkt o foT Ueh UTaR T21eh 9TH 20T 2])
(a)1 (b) 2 (c)3 (d) 4
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Q.2

Q.3

Q4

Q.5

Q.6

Q.7

Q.8

Group (B) (3w -s)

Write the selection criteria of farm machines.
(e 7l & = wEgel i o))
OR (ateram)
Classify steel on the basis of carbon percentage and write its uses.
(GFTe SIfereTd o ST WX Tt ST affeRtor hIfSTT qe sk SU=rTh ot fofa))

Write the at least four use of cultivators in agriculture.
(F § Feaet % 7 § 7 IR 37N fafag))

OR (arera)
Classify the farm machinery.
(T wrefierdy =T aeffeRtoT %))

Write the properties of materials used for critical and functional components of agricultural

machines.

(FT% 731 o Trfesrat SR FrITee: Hee o foTg ek |t o Tl o fafa) )
OR (areram)

Explain the term ‘Land Reclamation’.

(‘o g 2153 o e ife])

Compare between ownership and hiring of machines.

(=T o Eafed 3T foRtg ot o o forer g i)

OR (areram)
Explain no till drills and write its advantages.
(F-fe T ! TH=ATST oI 39k @i 1 fafiag))

Explain the purpose of pudding in agriculture.

(pfr 5 gt r sz ferftan))

OR (steram)
Differentiate between mould-board plough and disc plough.
(vice A€ 50 W fet &1 § 3T Tu Hifr))

Group (C) (g - )

Write the name of different layers of soil and explain sub-soiler.
(g it fafirt ol o A fafae, qorr we-wiser S quesy))
OR (areram)

Write the advantages and disadvantages of harrowing a lawn.
(ST T &0 A o AT 3R T fafa))

Write the purpose of heat treatment and its requirement in farm machines.

(e fietic 1 32 ford ofi wrd qefiet & soeht sTravaehar o))
OR (areram)

Describe the seed bed preparation and classify it.
(et oy <Y S ot vl oL 3R 39 afieRd o)
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Q.9

Q.10

Q.11

Explain flame hardening process with neat sketch.
(T BTERAT Sfsham it T fort <At wemaT & wHesy))

OR (3teram)

Explain hardening process and write its uses.
(=Tt wfsram =t wwETsy 3R 3wt 3w fafiay) )

Write the name of earth moving equipment and explain any one of them.
(el e STerRoTt % A fIRaT ST I @ ferelt weh St =T ifg|)

OR (areram)

Write the name of different types of furrow openers and explain any one of them
(fafer=1 wehm & 1 o719 o A forfa ofit 30 & foredt wan o1 avfa hifsr) )

Explain three point hitching system with neat sketch.
(= et oY T & oft e R ot i wweew))

OR (3teram)

Write the purpose of primary tillage and secondary tillage?
(sterfirer Sfaté St faeftereh Saré & seww faftan))
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